Date :

17 Décembre

TOUR 3 RENOULLIN contre BLINEAU
Donnes| Paire 1 Paire 2 Paire 3 Paire 4
N-Sen + N-Sen - N-Sen + N-Sen -
E-Oen - E-Oen+ E-Oen - E-Oen+
o |2J30 | S0 | + hbo | -AF0 Q00
10 —~{;}//Z5 080 — ¢S 'A}.""%.é/{r? ~Sho
11| + 5D —LU%e | kLSo |—4R0 | Do
12 _Ako - SO | — Jys 40 —\%0
13 | HAv0 U0 | — foo | YH40 | Uho
14 | A0 = WO | M | 44AB0 | 550
15 | Mo — o — Mo + Bo  |-Wo
16 | +A30 + lov — & ~ %0 | +%
17_|~50 - o | Ll | =HQ -5t
18 | 50 - $9 | + <o |+ L0 | Mo
19 |—5p — 2e0 | — Neo 4+ A0 ~ 2%
20 /00 — ¢ | A Jen | —ACT Lo
21 kD koo | 4 Ao | LD |2ko
2 oD +ieo |~ A% | YA | 7o
23 fﬁlﬂ) FUe | 4 dao | TEfC |20
24 |0 + 140 | — Ake | 4470 | 9
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